REVISION TEST BASED ON FOCUS AREA. CHEMISTRY: UNIT.3
ANSWER KEY
It is given an incomplete chemical equation. Identify the substance ‘A’. 1
2Na + H,O - 2NaOH + ..A ....
Ans. H; ( hydrogen)
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Na + HZO —~NaOH + ...A ....
aomeo. H, ( #9a0@we=03)

Name the non metal included in the reactivity series. 1
Ans. Hydrogen.
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Anode of Galvanic cell is ........ (positive/negative) 1
Ans. Negative.
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A part of reactivity series is given. Find two metals that can be displaced by =~ #0@3auso Ca 1
aluminium from their salt solution.

Ans. Zn&Fe [Because these are the metals which are less reactive than
Aluminium]
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It is given a chemical cell. 2

a.Find the Anode and Cathode of the cell. Justify your answer.

b. What is marked as ‘X’ in this arrangement? What is its function?

Ans.a. A: Anode, B: Cathode. Because electron flow is from A to B.

b. X: Salt bridge. It helps to maintain continuous current flow.
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When a zinc rod is dipped a copper sulphate solution as shown, copper will be 2

deposited on the zinc rod. "B

a. Name the reaction. +—2Zn

b. Write down the equation of oxidation reaction takes place here. 3 &

c. If the rod is silver(Ag) instead of Zn, will there be such reaction? Why? ] !____H

Ans.a. Displacement reaction. — 1

b.Zn - Zn* + 2e

c. No. Because silver (Ag) is less reactive than copper. 3
Cu504j
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b. Zn - Zn*" + 2e
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See the figure. 2
a. What is known as this arrangement?

b. Identify the anode and cathode.

c. Write down the equation of the reaction takes place at the anode.
d. Give the equation of redox reaction.

Ans.a. Galvanic cell/Voltacell.

b. Mg: Anode Cu: Cathode.

[Because Mg is more reactive than Cu]

C. Mg —>1\/Ig2+ + 2e

d. Mg + Cu** - Mg** +Cu

2ll@o &M, d. DD (HABH06Mo 2 f)IDGaIBILIEM” BROIWEQ |FIN® ?

b. ool @RYEMICW®? HIGLOIGA®?

C. @RYEMIWIBI MSHBAM AINV(JAIBRBGMHMAVANIID: Y HALD .

d. d@@dmsasan 016" O1RIGHUNTF NVAAIIDJONLDH>.
DOMM0.3. NITMM D HAVDI/ AIIUBFINAVD3.

b. Mg: ampemoaw”  Cu: &ocinoaw”

[@006mM0 &RuN 1o LODIM” Galda|01eMHNIUD (GHlWoudlerlo SS®Eelem]

c. Mg - Mg* + 2e
d. Mg + Cu** - Mg** +Cu
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